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E–101 

M. Com. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

Paper First 

MANAGERIAL ECONOMICS 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- tksf[ke esa lokZf/kd izeq[k ?kVd gksrk gS % 

¼v½ fuf’prrk 

¼c½ vfuf’prrk 

¼l½ volj dk la;ksx 

¼n½ mi;qZDr esa ls dksbZ ugha 
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The most prominent component in risk is : 

(a) Certainty  

(b) Uncertainty 

(c) Opportunity 

(d) None of the above 

2- izcU/kdh; vFkZ’kkL= dh izÑfr gS % 

¼v½ o.kZukRed 

¼c½ funsZ’kkRed 

¼l½ ladsrkRed 

¼n½ mi;qZDr lHkh 

The nature of managerial economics is : 

(a) Descriptive 

(b) Perspective 

(c) Indicative  

(d) All of the above 

3- izcU/kdh; vFkZ’kkL=h dk dk;Z gS % 

¼v½ vYidky fu;kstu 

¼c½ nh?kZdky fu;kstu 

¼l½ vYidky ,oa nh?kZdky fu;kstu 

¼n½ buesa ls dksbZ ugha 
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Managerial economists work : 

(a) Short-term planning 

(b) Long-term planning 

(c) Short-term and long-term planning 

(d) None of the above 

4- volj ykxr dk vk/kkj gksrk gS % 

¼v½ R;kx dk eki 

¼c½ ykHk dk eki 

¼l½ gkfu dk eki 

¼n½ buesa ls dksbZ ugha 

The basis of opportunity cost is : 

(a) Measure of consistency 

(b) Measure of profit 

(c) Measure of loss 

(d) None of the above 

5- eqnzk dk ewY; Hkfo”; esa D;k gksxk] bldk v/;;u fd;k tkrk gS % 

¼v½ le; lUnHkZ ds fl)kUr esa 

¼c½ voewY;u fl)kUr esa 

¼l½ of̀)’khy fl)kUr esa 

¼n½ le&lhekar fl)kUr esa 
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The value of currency in future is studied by  .......... . 

(a) Principle of Time Perspective 

(b) Discounting principle 

(c) Incremental principle 

(d) Equi-marginal principle 

6- dVkSrh ,d vo/kkj.kk rFkk rduhd nksuksa gS tks fd ewyr% yh xbZ gS % 

¼v½ lef”Vxr vFkZ’kkL= ls 

¼c½ O;f”Vxr vFkZ’kkL= ls 

¼l½ ys[kk’kkL= ls 

¼n½ buesa ls dksbZ ugha 

Deduction is both a concept and technique that is basically 

taken from : 

(a) Macro economics 

(b) Micro economics 

(c) Accountancy 

(d) None of the above 

7- og bdkbZ tks oLrqvksa vkSj lsokvksa dk mRiknu o foØ; djrh gS] 

dgykrh gS % 

¼v½ m|ksx 

¼c½ la;qDr Lda/k dEiuh 

¼l½ QeZ 

¼n½ buesa ls dksbZ ugha 
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The unit that produces and sells goods and services is  

called : 

(a) Industry 

(b) Joint stock company 

(c) Firm 

(d) None of the above 

8- ek¡x oØ ds nkfguh vksj mBus dk dkj.k gS % 

¼v½ LFkkukiUu dh dher fxjuk 

¼c½ iwjd oLrq dh dher c<+uk 

¼l½ vk; dk c<+uk 

¼n½ mi;qZDr lHkh 

Rightward shift in the demand curve is caused due to : 

(a) A fallen in the price of substitute 

(b) A rise in the price of complement 

(c) A rise in income 

(d) All of the above 

9- U;wure oxZ fof/k dk lw= gS % 

¼v½ Y a b   

¼c½ Y Xa b   

¼l½ Y Xa b   

¼n½ 
2Y Xa b   
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The formula of least squares method is : 

(a) Y a b  

(b) Y Xa b  

(c) Y Xa b  

(d) 
2Y Xa b  

10- ek¡x dh vk;&lkis{krk dh eki dk lw= gS % 

¼v½ 
Q Q

Y Y
  

¼c½ 
Q Y

Y Q
  

¼l½ 
Y Q

Q Y
  

¼n½ 
Y Y

Q Q
  

The formula of measurement of Income elasticity of demand 

is : 

(a) 
Q Q

Y Y
 

(b) 
Q Y

Y Q
 

(c) 
Y Q

Q Y
 

(d) 
Y Y

Q Q
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11- ek¡x dh yksp dh lhek,¡ dkSu&lh gSa \ 

¼v½ 1 ls   

¼c½  ls   

¼l½ 0 ls  

¼n½ buesa ls dksbZ ugha 

What are the limitations of elasticity of demand ? 

(a) 1 to  

(b) to  

(c) 0 to  

(d) None of the above 

12- iw.kZ larqf”V ds fcUnq ij lhekar mi;ksfxrk gksrh gS % 

¼v½ ‘kwU; 

¼c½ /kukRed 

¼l½ _.kkRed 

¼n½ vf/kdre 

In the point of full satisfaction, marginal utility, is : 

(a) Zero  

(b) Positive 

(c) Negative 

(d) Maximum 
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13- ^izdV vf/keku fl)kUr* ds izfriknd Fks % 

¼v½ jkcVZlu 

¼c½ lSE;qYlu 

¼l½ vkeZLVªkax 

¼n½ ek’kZy 

Revealed preference theory was presented by : 

(a) Robertson 

(b) Samuelson 

(c) Armstrong 

(d) Marshall 

14- mnklhurk oØ fo’ys”k.k % 

¼v½ x.kukokpd nf̀”Vdks.k izLrqr djrk gS  

¼c½ Øeokpd nf̀”Vdks.k izLrqr djrk gS 

¼l½ mi;qZDr nksuksa lgh 

¼n½ mi;qZDr nksuksa xyr 

Indifference curve analysis presents : 

(a) Cardinal approach 

(b) Ordinal approach 

(c) Both of the above are correct 

(d) Both of the above are incorrect 



 [ 9 ] E–101 

 P. T. O. 

15- ghjksa dh lhekar mi;ksfxrk vf/kd rFkk dqy mi;ksfxrk % 

¼v½ de gksrh gS 

¼c½ Hkh vf/kd gksrh gS 

¼l½ ‘kwU; gksrh gS 

¼n½ de ;k vf/kd dqN Hkh gks ldrh gS 

Marginal utility of „diamond‟ is more and total utility : 

(a) is less 

(b) is also more 

(c) is zero 

(d) may be more or less 

16- ^vuqikr ,oa iSekuk* dk fopkj Øe’k% lEcfU/kr gS % 

¼v½ vYidky] nh?kZdky ls 

¼c½ nh?kZdky] vYidky ls 

¼l½ vYidky] vYidky ls 

¼n½ nh?kZdky] nh?kZdky ls 

The idea of ratio and scale is related respectively with : 

(a) Short-term, long-term 

(b) Long-term, short-term 

(c) Short-term, short-term 

(d) Long-term, long-term 
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17- izFke ?kkr okyk le:i Qyu dkSu&lk gS \ 

¼v½ vYidkyhu mRiknu Qyu 

¼c½ nh?kZdkyhu mRiknu Qyu 

¼l½ dkWc&Mxyl mRiknu Qyu 

¼n½ buesa ls dksbZ ugha 

Which is the Homogeneous function of Degree one ? 

(a) Short-run production function 

(b) Long-run production function 

(c) Cobb-Douglas production function 

(d) None of these 

18- vkUrfjd ,oa cká cprksa ds dkj.k mRiUu gksrk gS % 

¼v½ iSekus dk ?kVrk izfrQy 

¼c½ iSekus dk fLFkj izfrQy 

¼l½ iSekus dk c<+rk izfrQy 

¼n½ mi;qZDr dksbZ Hkh 

Arise due to internal and external economies : 

(a) Diminishing return to scale 

(b) Constant return to scale 

(c) Increasing return to scale 

(d) Any one of the above 
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19- ifjorZu’khy vuqikr ds fu;e dh rhljh voLFkk esa % 

¼v½ AP _.kkRed gksrh gS 

¼c½ MP _.kkRed gksrh gS 

¼l½ AP rFkk MP nksuksa _.kkRed gksrh gS 

¼n½ lHkh vlR; 

In the third stage of law of variable proportion : 

(a) AP is negative 

(b) MP is negative 

(c) Both AP and MP are negative 

(d) All are false 

20- ykHk vf/kdredj.k dks QeZ dk izeq[k mís’; ekurs gSa % 

¼v½ izfrf”Br vFkZ’kkL=h  

¼c½ uo&izfrf”Br vFkZ’kkL=h 

¼l½ miq;ZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Profit maximization is  considered as the main objective of 

the firm by : 

(a) Classical economist  

(b) Neo-classical economist 

(c) Both of the above 

(d) None are the above 
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(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % bl [k.M ds fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa 

fyf[k,A 

 Write answer of any eight questions from this Section in 

two or three sentences.  

1- LFkSfrd vkfFkZd fo’ys”k.k fdls dgrs gSa \ 

What is static economic analysis ? 

2- QeZ ds fofHkUu oSdfYid fl)kUrksa ds uke fyf[k,A 

Name the various alternative principles of the firm. 

3- voewY;u fl)kUr D;k gS \ 

What is discounting principle ? 

4- le&lhekar fo’ys”k.k D;k gS \ 

What is Equi-marginal analysis ? 

5- fxfQu oLrq,¡ fdls dgrs gSa \ 

What is Giffen goods ? 

6- cktkj ek¡x oØ D;k gS \ 

What is Market Demand Curve ? 
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7- rVLFkrk ekufp= D;k gS \ 

What is Indifference Map ? 

8- ek¡x dh vk; yksp ls D;k vfHkizk; gS \ 

What do you mean by Income Elasticity of Demand ? 

9- dkWc&Mxyl dk mRiknu Qyu D;k gS \ 

What is Cobb-Douglas production function ? 

10- iSekus ds ?kVrs izfrQy dks ifjHkkf”kr dhft,A 

Define the “Law of diminishing returns.” 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fuEufyf[kr esa ls fdUgha vkB iz’uksa ds mŸkj nhft,A vf/kdre 

‘kCn lhek 75 ‘kCnA 

 Attempt any eight questions from the following. 

Maximum word limit 75 words. 

1- vfuf’prrk o tksf[ke esa vUrj fyf[k,A 

Write the difference between Uncertainty and Risk. 

2- izcU/kdh; vFkZ’kkL= dh eq[; fo’ks”krk,¡ crkb,A 

Point out the main characteristics of managerial economics. 
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3- of̀)’khy fo’ys”k.k dh vo/kkj.kk dks le>kb,A 

Explain the concept of incremental analysis. 

4- ek¡x iwokZuqeku ls D;k rkRi;Z gS \ 

What is the meaning of demand forecasting ? 

5- ek¡x dh vkM+h yksp dh O;k[;k dhft,A 

Explain the cross-elasticity of demand. 

6- ek¡x esa of̀) ,oa ek¡x ds foLrkj esa vUrj dks le>kb,A 

Explain the difference between increase in demand and 

extension of demand. 

7- rVLFkrk oØ ewy fcUnq dh vksj mUurksnj gksrs gSa( le>kb,A 

Explain, indifference curve convex to the point of  

origin. 

8- miHkksDrk ds LFkk;h lUrqyu dh D;k ‘krs± gSa \ 

What are the conditions of consumer‟s stable equilibrium ? 

9- D;k mRifŸk òf) fu;e dh izof̀Ÿk vuUr gS \ 

Is the tendency of increasing return infinite ? 

10- ?kVrs izfrQy fu;e dh O;kogkfjdrk crkb,A 

Discuss the practicability of the “Law of diminishing 

returns”. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % bl [k.M ds lHkh iz’u vfuok;Z gSaA vf/kdre ‘kCn lhek  

150 ‘kCnA 

 All questions of this Section are compulsory. Maximum 

word limits 150 words. 

1- ßykHk egrhdj.k gh lnSo ,d O;kolkf;d QeZ dk ,dek= mís’; ugha 

gksrkAÞ foospuk dhft,A 

“Profit maximisation is not always the sole objective of a 

firm.” Discuss it. 

vFkok 

(Or) 

izcU/kdh; vFkZ’kkL=h ds mŸkjnkf;Roksa dh O;k[;k dhft,A 

Explain the responsibilities of managerial economist. 

2- volj ykxr D;k gS \ bldk vkx.ku fdl izdkj fd;k tkrk gS \ 

What is opportunity cost ? How is it calculated ? 

vFkok 

(Or) 

mRiknu Qyu ls vki D;k le>rs gSa \ mRiknu Qyu dh fo’ks”krk,¡ 

crkb,A 

What do you mean by production function ? Mention its 

characteristics. 
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3- ek¡x oØ dk <ky lnSo uhps nkfguh vksj D;ksa gksrk gS \ 

Why demand curves slopes downward to the right ? 

vFkok 

(Or) 

ek¡x dh yksp ls D;k rkRi;Z gS \ bldks izHkkfor djus okys rRoksa dk 

o.kZu dhft,A 

What is meant by elasticity of demand ? Describe the factors 

upon which it depends. 

4- le&lhekar mi;ksfxrk fu;e dh mnkgj.k lfgr O;k[;k dhft,A 

State and explain the law of Equi-marginal utility. 

vFkok 

(Or) 

uohu mRikn dh ek¡x iwokZuqeku dks dkSu&dkSu ls ?kVd izHkkfor djrs 

gSa \ 

What factors influence demand forecasting of a new  

product ? 
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